Psychological Research:  Crash Course Psychology #2
Available at https://youtu.be/hFV71QPvX2I or just youtube/google “Crash Course Psychology 2”
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1. What example does Hank Green give to demonstrate hindsight bias (aka 
the I-knew-it-all-along phenomenon)?
2. The scientific method is a three-step process involving:
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______________ and a ______________

b. ______________ (a testable prediction)
c. _________ with a ______________ experiment

3. What is the flaw of case studies?


4. Naturalistic observations are great at ________________________ 
but they’re very limited in ___________________ it.
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Weaknesses of surveys include answers being changed based on wording effects and also the sampling bias, which is where the group given the survey may not represent the entire population.  How do you correct for the sampling bias?


6. Correlations predict the ______________ of cause and effect 
relationships, but they cannot ______________ them.

7. Experiments allow investigators to isolate different effects by ______________ an ____________________________, and keeping ________________________________.

a. The ____________________________ gets “messed with”.

b. The ____________________________ does not get “messed with”.
c. ______________ are inert substances (often sugar pills) given to control groups to compare against experimental group’s actual substance.


8. Hank Green conducts an experiment to find out if humans solve problems faster when give caffeine. Fill in the appropriate answers for each experimental terminology below.

Hypothesis:  

Independent Variable:


Dependent Variable:


Control Group:

Experimental Group 1:

Experimental Group 2:


